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(1) Evaluate the indicated limit. ﬁppij )L ;
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(2) (a) Sketch and find the arca of the region bounded by y = x? and the line y = z + 2
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(b) Sketch and find the area of the region bounded by the graphs of the functions

=y ~2and x = ~y.
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(3) Let f(x) = 2" + 423

(a) Find the domain and intercepts.
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(b) Find the intervals of increase and decrease and the local extreme points.
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(c) Find the intervals of concavity and the inflection points.
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(d) Sketch the graph.
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(4) (@) The area of a squarc is decrcasing at a rate of 4.4 f¢?/man. At the instant the area
is 81 f1?, how fast is the side of the square changing?
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(b) Of all boxes with a square base and a volume 100m3, which one has the minimum

surface area? (Give its dimensions)
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